FAS1F1AERAS BRERR

RE BEEFBEEHRRACHREHE

B & % & B H BmE#HR
FRAHZ fREHMmMEKXEZEE 0157 =
IRAE (%) fAE M XZE 0157 b= 1%
BR{TIFDY fREHmMEXEE 0157 =
RIAITeL frEHMmEXBE 0157 f= %
MNAYUBYDHA REHmMEXEE 0157 = 1
AYbF—X fAE Mt XBE 0157 =
AN fREHMmMEKREZEE 0157 =
INEDEA fAE M XBE 0157 =
Azl fREHmMEKXEE 0157 b= 1%
Pl EHMmEXRBE 0157 b= %
=ZAYICAIZRL fREHMmMEXBE 0157 = %
BAE EHMmEXREBE 0157 b= %
BHH&E (F) fREHmMEKREE 0157 = 1
MAHAE EHMmEXREBE 0157 b= %
Y—R(DFAR1K) frEHMAEKRBE 0157 = %
YIF—X frE Mt RBE 0157 = %
FaaFyS fREHmMAEXRBE 0157 b= 1%
DEZAITRL frE M RIBE 0157 b= %
FAYTRE—F fREHmMEXEE 0157 = 1
BEENVESOvL(JoILPI) frEHMmEXRBE 0157 f= %
FEZDY(BKAY) fREHmMEKRZEE 0157 = 1
=23 rEHMmEXREBE 0157 b= %




ERS1F1BERD REMHE

BE EAEFBAERRTHREHE
B & % % & B H wmE KR
EBITBHF—R frE M KBE 0157 = %
HEULE frEHMmEXBE 0157 = %
DYDHEA fREHmMEXZEE 0157 =
EHV—X frE M RBE 0157 b= %
—O&AaxXX fREHMmMEXEZEE 0157 = 1
B (/NVR)5g fAEHIMEXZE 0157 = 1%
8= (/h%)8g fREHmMEKRZEE 0157 b= 1%
SYMTDE) fAE M XZE 0157 b= 1%
SUDIF (DY) fREHmMEKRZEE 0157 =
ST (FESF) fAE M XBE 0157 b= 1%
SUDNT (EZRTrvoh M) fREHMmMEXBZEE 0157 =
SYMITF (FYABE) fmE Mt XZE 0157 b= 1%
SUniF(Fx) fREHMmMEKXEE 0157 = 1
MARF—X fAEHImtXBE 0157 =
BX fREHmMEXREZEE 0157 =
BHE frEHMmEXEBE 0157 b= %
2IR—XEARLy T (FRER) frE M KZE 0157 = %
Hh AT L fREHMmERBE 0157 b= %
TYHYRD N L frE M KXBE 0157 = %
BMFEIXT frEHMmERBE 0157 f= %
HH<h fREHmMEKRZEE 0157 = 1
=T ILMERAY) LD fAEHmERBE 0157 =




FAS1F1AERAS BRERR

BRE BEEHBHEASHRIETRERE
B R 4 B & E A R
I—T LTV Y) fREHMmMEXRZEE 0157 b= 1%
=TI (VTRI ) —LN=T) frE Mt KEZE 0157 b= %
ABZIL—yE)—(EEYAD) fREHMEXEE 0157 = %
MRREIT D) BESTF fAE M XBE 0157 =
AEEBT (D) EEXRE fREHmMEXREE 0157 = 1
AAEVDHL(BAZE)30g fAEHIMEXBE 0157 b= 1%
ARVAFT—(HOUE) 1emAyk frE M RBE 0157 = %
MRVAF—(Hvh) frE M RIBE 0157 b= %
AEITHIT g M KIZE 0157 = %
MRITHIT (Hvh) fAEHIMEXBE 0157 b= 1%
MEIEA g M KIZE 0157 = %
BRELOA frEHMmEXREBE 0157 =
mR¥I—Y fRE M XBE 0157 =
ARTLH fAEHMmERBE 0157 = %
R fREHmMEXREZEE 0157 =
MRIBA (R F5ghvh) fAEHIMEXBE 0157 =
MEBA(RF8gHvh) fREHmMEXZEE 0157 = %
MRBAN(RFHH10ghvh) frEHMmEXBE 0157 =
MEBAE(BEFbE8ghvh) fREHmMEXEE 0157 = 1
MRIBA (RELEghv) fAEHImEXBE 0157 = %
ARBA (RGELLLIEA) fREHmMEKRZEE 0157 = 1
AR EE(HIR) 30g frE Mt RBE 0157 f= %




FAS1F1AERAS BRERR

BRE BEEHBHEASHRIETRERE
E @& 4 B® & E H rRERBR
R (H18)40g fREHmMEKXEE 0157 =
ARSIE - A fAE Mt XBE 0157 =
mEShL (HIR)30g fREHmMEXZEE 0157 = 1
AE—T—RIVIR (LD -ZW) frE M RIBE 0157 b= %
mELLeY fREHMEXEBE 0157 =
BE1—TA fREHMmEXRBE 0157 =
ARTEA fREHMEXEBE 0157 = %
MEVT—NAZ=FY fAEHIMEXZE 0157 = 1%
AEREZLEEH fREHmMEKREE 0157 = 1
AR5 (Y- HMT) fAE M XBE 0157 =
mEEF fREHMmMEXRBZEE 0157 =
REFXUNNYT fmE M XZE 0157 b= 1%
AEFEUR—IL fREHmMEKRZEE 0157 =
MR ER fAE Mt XBE 0157 b= 1%
MREE REHMEXEBE 0157 = %
MEBNSBIT fAE M XZE 0157 =
AEBRA(ELATI10g) frE M KIBE 0157 = %
AREAE ($1)3mm 3x3 frE Mt REBE 0157 f= %
AEBRA(B—X)3mm 3x3 fREHMEXBE 0157 = %
mEBERELE fAE M XZE 0157 =
AEBREDE (RA) fREHMmMEXREZE 0157 =
AEBFAN—REE3mm 1x35Ef frE Mt REZE 0157 f= %




FAS1F1AERAS BRERR

RE BEEFBEEHRRACHREHE

B & A B & E A R
mESY(30g) fREHmMEXRZEE 0157 b= %
ARAY (40g) fAEHmERBE 0157 = %
AER—IY (AYk) fREHmMEKRZEE 0157 b= 1%
BEA—IY (HFAK) fAE M XBE 0157 = 1%
BERILRINL (FYb) g MM KZE 0157 = %
BRIVFHY frE Mt REBE 0157 = %




